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1. REBIFREER
2. BHEPHFE
3. BEFABE
4. BRERFE
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B 2 ram D25 8 om w =
[ —RERMEHROH
1. ERHEOH
(D #E IR 436, 002 467,010, A 31,008
25 (28) J KAF#ENE 0 31,0000 A 31,000
BAIZ &0 3 HBZOHE 0. 0% 6. 6%
) REER 457, 794 467,010 A 9,216
LERERRAE A 21,792 0 A 21,792
2. BESNEAOH
24 58 AR 0 0 0
LH— AR IERREA IR IRAR A 21,792 0 A 21,792
—REKRMENERERS 911, 493 511, 493 0
—RIERMEHRES 489, 701 511,493 A 21,792
TEE ERHEDH
o4 45155 KB A 4 0 0 0
R ERMENERE 0 0 0
B ERMENAAE 0 0 0
IIERE I RTES 489, 701 511,493 A 21,792
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1. REBIFREER
2. BHEPHFE
3. BEFABE
4. BRERFE
S04 FENE (82 FHE
(BT - )
B 2 ram D25 8 om w =
[ —RERMEHROH
1. ERHEOH
(D #E IR 467,010 422,034 44,976
25 (28) J KAF#ENE 31,000 0 31,000
BAIZ &0 3 HBZOHE 6. 6% 0. 0%
) REER 467,010 422,034 44,976
4 A 0 0 0
2. BESNEAOH
24 58 AR 0 0 0
o — AL E KB A A 0 0 0
—REKRMENERERS 488, 825 488, 825 0
—RIERMEHRES 488, 825 488, 825 0
TEE ERHEDH
o4 45155 KB A 4 0 0 0
R ERMENERE 0 0 0
B ERMENAAE 0 0 0
IIERE I RTES 488, 825 488, 825 0
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1. ERHEOH

(D #E IR 422,034 436,026) A 13,992

5% (188) J K ABIS 0 0 0
BAIZ &0 3 HBZOHE 0. 0% 0. 0%

) REER 422,034 408, 580 13, 454
LERERRAE 0 27,446) A 2], 446
2. BESNEAOH

24 58 AR 0 0 0
LH— AR IERREA IR IRAR 0 27,446) A 21,446
—REKRMENERERS 905, 894 478, 448 21,446
—RIERMEHRES 905, 894 505, 894 0
TEE ERHEDH

o4 45155 KB A 4 0 0 0
R ERMENERE 0 0 0
B ERMENAAE 0 0 0
IIERE I RTES 905, 894 435, 616 10,278
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3. BEFABE
4. BRERFE
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(BT - )
B 2 ram D25 8 om w =
[ —RERMEHROH
1. ERHEOH
(D #E IR 436, 026 401, 917 34,109
25 (28) J KAF#ENE 0 21,500, A 21,500
BAIZ &0 3 HBZOHE 0. 0% 5. 3%
) REER 408, 580 432,808) A 24,228
LERERRAE 27,446) A 30, 891 98, 337
2. BESNEAOH
24 58 AR 0 0 0
LH— AR IERREA IR IRAR 27,446) A 30, 891 98, 337
—REKRMENERERS 435, 616 466,507 A 30, 891
—RIERMEHRES 463, 062 435, 616 21,446
TEE ERHEDH
o4 45155 KB A 4 0 0 0
R ERMENERE 0 0 0
B ERMENAAE 0 0 0
IIERE I RTES 463, 062 435, 616 21,446
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B 2 ram gk W
[ —RERMEHROH
1. ERHEOH
(D #E IR 401, 917 402, 736
5% (188) J K ABIS 0 21,50
BAIZ &0 3 HBZOHE 0. 0% 5. 3%
) REER 432, 808 385, 335
LERERRAE A 30, 891 17, 401
2. BESNEAOH
4 RN AR 0 0
24— 4 TE R P A A 30,81 17,401
—REKRMENERERS 462, 099 444, 698
—RIERMEHRES 431, 208 462, 099
TEE ERHEDH
o4 45155 KB A 4 0 0
R ERMENERE 0 0
B ERMENAAE 0 0
IIERE I RTES 431, 208 462, 099




